1)

A compound of iron and oxygen is found to have a mass of 6.13 grams.  If the mass of iron is determined to be 4.29grams, what is the empirical formula of the compound?

Please give step by step answer in simplest way to do not making it complicated.  Show all steps and solution please.

2) See next page……Please do all of three and four.

Please give step by step answer in simplest way to do not making it complicated.  Show all steps and solution please.

[image: image1.png]Iomc Reactions in Aqueous Solution
Prelab

Name ' Total /10

1. What is the purpose of this experiment?
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2. What is a precipitate?
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3. Using your solubility rules, deterrmnetwhether the following will be a precipitate in aqueous
solution.
a) BaSO4 b) Na,CO; c) NH4NO; d) Ca3(POs),

4. Identify the cation and anion in each compound in question 3. Give the charge on each ion.
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3) Please write the molecular and net ionic equations for precipitation each.

a) Ba(Nosub3)sub2 + Nasub2Sosub4

b) Ba(Nosub3)sub2 + NaOH

c) Ba(Nosub3)sub2 + Nasub2Cosub3

d) AgNOsub3 + NaBr

e) AgNOsub3 + Nasub2Sosub4

f) AgNOsub3 + NaOH

g) AgNOsub3 + Nasub2Cosub3

h) Ca(Nosub3)sub2 + NaOH

i) Ca(Nosub3)sub2 + Nasub2Cosub3

j) Cu(Nosub3)sub2 + NaBr

k) Cu(Nosub3)sub2 + Nasub2Sosub4

l) Cu(Nosub3)sub2 + NaOH

m) Cu(Nosub3)sub2 + Nasub2Cosub3

